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Reading Comprehension

Dtrectwns' Read the followmg three passages and answer the questlons by choosmg |

the bes once 1), (2), ., or (4). Then the correc clce on your answer she.

Passage 1:
Until the 17th century the only well-known gas was air. Alchemists, ancient and

medieval experimenters who attempted to find ways to produce gold or silver from
base metals, frequently produced “airs” and “vapors” in their experiments. These
gases, however, were usually ignored rather than studied.

In 1640 the Belgian physician Jan van Helmont noted that the gas produced by

ly

burning wood resembled air but did not behave quite like air. He subsequ
coined the word gas from the Flemish pronunciation of the word for chao
we call the gas he produced carbon dioxide.

In 1643 Evangelista Torricelli, an Italian mathematician a
conducted laboratory experiments to show that the gases air pressure
and that air supported a column of mercury 76 cm (3 hig so doing, he
invented the barometer. )

86- According to the passage, up until the 17th centurv heedesbeMdletraes
1) only one gas type in addition to air %s
2) air was wrongly believed to be a sort (f\@i
3) there was only one well-known g
4) no gas was actually known to

87- Itis stated that alchemists-managed t d@e ........... saverssre s
1) gold and silver ‘ 2) some base metals
3) either gold or silver 4) something known as “airs”

88- It is stated in the ,passaggjhat alchemists, ancient and medieval experimenters,

89- The word “resembled” in paragraph 2 is closest in meaning to ...........cceeece.
1) generated 2) looked like 3) led to 4) requlred

90- Ali of the following are true about Belgian physician Jan van Helmont EXCEPT
that he ........cuucevee..

1) used a word other than carbon dioxide for the gas he had come across
2) found out that the gas he had found behaved like air
3) actually produced carbon dioxide in the 17" century
4) used the word gas for the first time
91- Who invented a device that measures air pressure?
1) A physician 2) A medieval experimenter
3) Jan van Helmont 4) Evangelista Torricelli
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92-

93-

94-

95-

96-

97-

Passage 2:
Water is often drawn from rivers, lakes, or the ocean for use as a coolant in

factories and power plants. The water is usually returned to the source warmer
than when it was taken. Even small temperature changes in a body of water can
drive away the fish and other species that were originally present, and attract other
species in place of them. Thermal pollution can accelerate biological processes in
plants and animals or deplete oxygen levels in water. The result may be fish and
other wildlife deaths near the discharge source. Thermal pollution can also be
caused by the removal of trees and vegetation that shade and cool streams.

The word “it” in line 3 refers to ......ccceeererennae
1) factory 2) source 3) water 4) water plart
According to the passage, small temperature changes ............... vorer s

1) may change the biological structure of a body of wate
2) would have almost no effect on the fish available
3) 1s likely to attract only new species of fish
4) can kill fish sensitive to temperature
Thermal pollution can ......ccceecrvrenes
1) cause oxygen levels in water to rise
2) speed up the process of oxygen production
3) fortunately lead to no effect on fish living nea@
4) have an adverse effect on oxygen levels infvh
‘What is the subject of the passage?
1) Rivers and lakes near discharge sguirgef
2) Thermal pollution
3) Water coolant
4) Marine life
Which of the following best rebresents the authors’ attitude towards the subject of
the passage?
1) Worrled ¥ Optimistic 3) Humorous 4) Baised
‘ passage, when trees and vegetation are removed, the result would

2) cooler streams
4) loss of all human energy source

Passage 3:

An estimated 90 percent of all photosynthesis and release of free oxygen takes place
in the oceans. Marine phytoplankton is the first link in the vast aquatic food chain.
The zooplankton, which feeds on the phytoplankton, is consumed in turn by larger
animals such as fish and even by the largest mammal, the blue whale. The high
protein content of plankton has stimulated research on it as a potential food source
for humans. Phytoplankton is sensitive to ocean water temperature, growing faster
in cooler waters. Researchers are concerned that increased ocean temperatures due
to global warming could reduce the growth of phytoplankton and thereby impact
the aquatic food chain. Because phytoplankton also absorbs atmospheric carbon
dioxide, which is a greenhouse gas, reduced amounts of phytoplankton in the
oceans could increase the amount of carbon dioxide in the atmosphere and thereby
speed up global warming.
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98- According to the passage, the blue whale .................... .
1) consumes both phytoplankton and zooplankton
2) uses zooplankton as a food source
3) exclusively feeds on fish
4) has varied food sources
99- Why do scientists consider plankton as a human food source?
1) For its effect on reducing global warming
2) For its potential to grow fast
3) For the protein it contains
4) For its abundance
100- Increased ocean temperatures may do all of the following EXCEPT .......
1) contributing to global warming
2) reducing the growth phytoplankton
3) unbalancing the aquatic food chain
4) reducing the amount of carbon dioxide in the atmosphere



